DWE4324-B2
220V TIPO1

@ ESMERILHADEIRA .4 1/2"E 5" BRUSHL 1700W




Posigao Peca Referéncia Type Qtde
1 N545495 | CONJ CAIXADE ENG Tipo 1 1
2 N545254 | CONJ TAMPA CAIXAENG Tipo 1 1
3 N545810 [ CONJ CAIXADE CAMPO Tipo 1 1
4 N563963 | TAMPATRASEIRA Tipo 1 1
6 N487789 | GUARDA Tipo 1 1

GUARDA
6 N441636 Tipo 1 1
Mudou para: N487789
8 391969-00 | ARRUELA SUPORTE DISCO IRONMAN "SC" Tipo 1 1
9 N442349 | PINHAO 12T Tipo 1 1
10 N372039 | PORCAM?7 Tipo 1 1
11 N545497 [ CONJ ROTOR 220V/ROLAMENTO Tipo 1 1
12 N465425 | DEFLETOR Tipo 1 1
13 949638-01 | PINO DE BORRACHA Tipo 1 3
14 N545577 | CONJ MODULO 220V Tipo 1 1
15 071025-00 | PRESILHA Tipo 1 1
16 N465886 | MOLADO TRINCO Tipo 1 1
ALAVANCA TRAVA
17 N530925 Tipo 1 1
Mudou para: N637725
17 N637725 | TRINCO Tipo 1 1
18 N297219 | PARAFUSO M4X22.50mm Tipo 1 1
19 N563931 INTERRUPTOR Tipo 1 1
20 N618379 | MOLARETENTORA Tipo 1 1
21 N371839 | PARAFUSO M4X22mm Tipo 1 4
22 N389438 | PARAFUSO M4X40mm Tipo 1 4
23 330045-06 | PARAFUSO M4 X16MM T20ACO Tipo 1 5
24 330019-02 | PARAFUSO M3.63 X 13MMT15 ACO Tipo 1 2
25 N200792 | CABO ELETRICO PRE ISOLADO DWE4120 "SC" Tipo 1 1
27 N484250 | FLANGE DE SAIDA Tipo 1 1
28 N501630 | ETIQUETADE ADVERTENCIA Tipo 1 1
29 N582310 | ETIQ ESPECF DWE4324-B2T1 220V Tipo 1 1
31 N450663 [ ETIQ FREIO Tipo 1 1
32 N401958 | DEFLETOR Tipo 1 1
33 N175104 | ROLAMENTO NSK 608DW 8MMX22MMX7 MM DWE4120 Tipo 1 1




34 N119639 | ANEL ORING 1.8MMX21.4MMBORRACHA DWE4120 Tipo 1 1
35 N278899 | BOTAO TRAVA Tipo 1 1
36 N481683 | PINO TRAVA Tipo 1 1
37 N263579 | MOLA Tipo 1 1
38 N263699 | ANEL ORING 1MM X3MM Tipo 1 1
39 N453031 ANEL TRAVA Tipo 1 1
42 N307625 | ANEL ORING1.5MM X40MM Tipo 1 1
48 N542715 | MOLAONDULADA Tipo 1 1
90 N107295 | CHAVE DE APERTO DO DISCO IRONMAN Tipo 1 1
91 N306340 | EMPUNHADURALATERAL Tipo 1 1
60 444793-00 | ANEL TRAVAEXTERNO 10MMACO "SC" Tipo 1 1
61 N126105 | BOTAO DO PINO TRAVADWE4120 Tipo 1 1
62 N122904 | PARAFUSO M3.5X14.5MM T15ACO DWE4120 Tipo 1 4
63 N116180 | TAMPADA CAIXADE ENGRENAGEMDWE4120 Tipo 1 1
64 N119639 | ANEL ORING 1.8MMX21.4MMBORRACHA DWE4120 Tipo 1 1
65 N094012 | ANEL ORING 1.0MMX4.8MMBORRACHA DWE4120 Tipo 1 1
66 N114592 | PINO TRAVADO EIXODWE4120 Tipo 1 1
71 N180741 EIXO DE SAIDAIRONMAM'SC" Tipo 1 1
ROLAMENTO CW DIEHARD i
72 605040-24 Tipo 1 1
Mudou para: N110362
72 N110362 | ROLAMENTO 6001 RS 12MM X28MM X 8MM Tipo 1 1
73 N095815 | BUCHADWE4120 Tipo 1 1
74 638229-00 | ARRUELA 12.1MMX25.5MMX0.2MM ACO Tipo 1 1
75 N185083 | ETIQUETAATENCAO IRONMANDWE4020/DWE4120 Tipo 1 1
80 149142-00 | MANGO SAG IRONMAN"SC" Tipo 1 1
81 N107295 | CHAVE DE APERTO DO DISCO IRONMAN Tipo 1 1




